Ma1s1 SOLUTION KEY EXAM 3 November 5, 1997

l. In a certain environment the rate of reproduction of a population of blue algae is
proportional to the size of the population. It takes the population 4 hours to double
in size. How long will it take for the population to triple in size?
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4. A rectangular field is to have area 2,200 square meters. Fencing is required to enclose
the field and divide it in half, as shown. Fencing for the perimeter costs $2 per meter
and fencing for dividing the field in half costs $1.50 per meter. The minimum cost is
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6. If f'{z) = (z - 1){z — 2)(zx — 3) then f has
e relative minima at 1 and 3 and a relative maximum at 2.
B. a relative minimum at 1, and relative maxima at 2 and 3.
. relative maxima at 1 and 3 and a relative minimum at 2.
D. relative maxima at —1 and —3 and a relative minimum at -2,

E. a relative maximum at —2, and relative minima at —1 and —-3.
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8. The product of three positive numbers, two of which are known to be equal, is 64
What is the maximum and the minimum of the sum of the three numbers?
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9, What values of a and b guarantee that f ) flz)dz + f flz)dr = f ) fla)dc?
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13. Which of the sketches could be the graph of f(x) = —"—.
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